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Pj+ k/LIff k|0ffnL -of]hgf_ 

 

kf7\oqmdsf] ?k/]vf M—  ;+o'Qm / Plss[t k/LIff k|0ffnL (Integrated & Unified Examination System) sf] 

cfwf/df lgDgfg';f/sf] x'g]5 . 

efu – ! 

lnlvt k/LIff (Written Examination) M— k|yd r/0f      k"0ff{Í M— !)) 

        låtLo r/0f            k"0ff{Í M— @)) 

efu – @ 

clGtd r/0f (Final Examination) M— sDKo"6/  ;Lk k/LIf0f / cGtjf{tf{   k"0ff{Í M— %) 

 

lnlvt k/LIff of]hgf (Written Examination Scheme) 

!= lnlvt k/LIff M– k|yd r/0f (First Phase) 

 

  kq                     ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

k|yd 

;fdfGo 1fg / ;fdfGo 

Aff}l¢s k/LIf0f 

(General Knowledge  & 

General Mental Ability 

Test)) 

100 40 

j:t'ut 

(Objective): 

ax'j}slNks k|Zg 

(Multiple Choice 

Questions) 

%) k|Zg x @ cÍ $% ldg]6               

 

@= lnlvt k/LIff M– låtLo r/0f (Second Phase)   

 

  kq                     ljifo k"0ff{Í ptL0ff{Í k/LIff k|0ffnL k|Zg;+Vof x cÍ ;do 

låtLo 

lj1fg / ul0ft   

(Science & 

Mathematics) 
100 40 

j:t'ut (Objective): 

ax'j}slNks k|Zg 

(MCQs) 

%) k|Zg x @ cÍ  ! 306f  

t[tLo 

;fdflhs cWoog tyf 

sfof{no ;+rfng 

(Social studies and  

Office practices) 

100 40 

ljifout(Subjective): 

5f]6f] / nfdf] pQ/ 

(Short & long 

Answers) 

!$ k|Zg x  % cÍ  

# k|Zg x  !) cÍ 

@ 306f 

#) ldg]6              

 

 

clGtd r/0f – sDKo"6/ ;Lk k/LIf0f / cGtjf{tf{ (Computer Skill Test & Interview) 

 

ljifo k"0ff{Í k/LIff k|0ffnL ;do 

sDKo"6/ ;Lk kl/If0f (Computer Skill Test) 10 k|of]ufTds (Practical) !% ldg]6 

JolQmut cGtjf{tf{ (Interview) 40 df}lvs (Oral)  

 

b|i6Jo M 

!= of] kf7\oqmd of]hgfnfO{ ;+o'Qm / PsLs[t k/LIff k|0ffnLsf] cfwf/df ck|fljlws tkm{ Gofo, k//fi6«, k|zf;g, 

n]vfk/LIf0f / ;+;b ;]jfsf ;a} ;d'xsf] nflu lnlvt k/LIff -k|yd r/0f / låtLo r/0f_ tyf clGtd r/0f 

-sDKo"6/ ;Lk k/LIf0f / cGtjf{tf{_ u/L b'O{ efudf ljefhg ul/Psf] 5 .  

@= dfly plNnlvt ;a} ;]jfsf ;a} ;d'xsf] nflu k|yd, låtLo / t[tLo kq÷ljifosf] ljifoj:t' Pp6} 

(Common) / clgjfo{ x'g]5 .  

#= lnlvt k/LIffsf] dfWod efiff g]kfnL jf c+u|]hL cyjf g]kfnL / c+u|]hL b'j} x'g]5 . 
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$= j:t'ut ax'j}slNks (Multiple Choice) k|Zgx?sf] unt pQ/ lbPdf k|To]s unt pQ/ afkt @) k|ltzt 

cÍ s§f ul/g]5 . t/ pQ/ glbPdf To; afkt cÍ lbOg] 5}g / cÍ s§f klg ul/g] 5}g . 

%= ax'j}slNks k|Zgx? x'g] k/LIffdf s'g} k|sf/sf] SofNs'n]6/ (Calculator) k|of]u ug{ kfOg] 5}g . 

^= ljifout k|Zgsf nflu tf]lsPsf !) cÍsf k|Zgx?sf] xsdf !) cÍsf]  Pp6f nfdf] k|Zg jf  Pp6} 

k|Zgsf b'O{ jf b'O{ eGbf a9L efu -Two or more parts of a single question_ jf Pp6f k|Zg cGtu{t b'O{ 

jf a9L l6Kk0fLx? -Short notes_ ;f]Wg ;lsg] 5 .  

&= k/LIffdf ;f]lwg] k|Zg;+Vof, cÍ / cÍef/ oyf;Dej ;DalGwt kq÷ljifodf lbO{P cg';f/ x''g]5 . 

*= ljifout k|Zg x'g] kq÷ljifosf k|To]s efu÷v08÷PsfOsf nflu 5'§f5'§} pQ/k'l:tsfx? x'g]5g\ . 

kl/IffyL{n] k|To]s efu÷v08÷PsfO{sf k|Zgx?sf] pQ/ ;f]xLefu÷v08÷PsfO{sf] pQ/k'l:tsfdf n]Vg'kg]{5 .  

(= o; kf7\oqmd of]hgf cGtu{tsf kq÷ljifosf ljifoj:t''df h];'s} n]lvPsf] eP tfklg kf7\oqmddf k/]sf 

sfg"g, P]g, lgod tyf gLltx? k/LIffsf] ldlt eGbf # dlxgf cufl8 -;+zf]wg ePsf jf ;+zf]wg eO{ 

x6fO{Psf jf yk u/L ;+zf]wg eO{_ sfod /x]sfnfO{ o; kf7\qmddf k/]sf] ;Demg''' kb{5 . 

!)= k|yd r/0f (First Phase) sf] lnlvt k/LIffaf6 5gf}6 ePsf pDd]bjf/x?nfO{ dfq låtLo r/0f 

(Second Phase) sf] lnlvt k/LIffdf ;lDdlnt u/fOg]5 . 

!!= lnlvt k/LIffsf] k|yd r/0f (First Phase) df k|fKt u/]sf] k|fKtfÍsf] zt\ k|ltzt cÍ tyf låtLo r/0f 

(Second Phase) sf] k|fKtfÍx? hf]l8 s"n cÍsf] cfwf/df lnlvt k/LIffsf] glthf k|sflzt ul/g]5 . 

!@= lnlvt k/LIffdf 5gf}6 ePsf pDd]bjf/x?nfO{ dfq clGtd r/0fsf] sDKo'6/ ;Lk k/LIf0f / cGtjf{tf{df 

;lDdlnt u/fOg]5 . 

!#= lnlvt k/LIff / clGtd clGtd r/0fsf] sDKo'6/ ;Lk k/LIf0f / cGtjf{tf{sf] s'n cÍ of]usf cfwf/df  

clGtd k/LIffkmn k|sflzt ul/g]5 . 

!$ plNnlvt k/LIff of]hgf nfu" ePkl5 of] eGbf cufl8sf] k/LIff of]hgf vf/]h x'g]5 . 

!%=  kf7\oqmd nfu" ldlt M– @)^(÷)(÷)* b]lv 

!^=  k/LIff of]hgf / kf7\oqmd ;+zf]wg ldlt M– @)&@÷)$÷@! ut]  
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k|ydkq M– ;fdfGo 1fg / ;fdfGo Aff}l¢s k/LIf0f 

 

!=  ;fdfGo 1fg       #% k|Zg × @ cÍ Ö &) cÍ  

  !=! ;f}o{d08n / k[YjL ;DaGwL ;fdfGo hfgsf/L . 

 !=@  ljZjsf] e"uf]n – dxfb]z, dxf;fu/, w|'j, cIff+z, b]zfGt/, ;do, b'/L, kj{t>[+vnf, e"sDk, 

Hjfnfd'vL, gbL, lxdgbL, tfn, hnjfo', cflb . 

!=#  g]kfnsf] e"uf]n – ef}uf]lns cj:yf, w/ftnLo :j?k / k|fs[lts ;Dkbf -hn;|f]t, hLjhGt', 

jg:klt, df6f], vlgh kbfy{, kxf8, cflb_ . 

!=$  ljZjsf] Oltxf; – cf}Bf]lus j|mflGt, k|mfG;sf] /fHoj|mflGt, cd]l/sL :jtGqtf ;ª\u|fd, ?;L ÷ 

cS6f]j/ j|mflGt, k|yd / låtLo ljZjo'4 tyf ef/tLo :jtGqtf ;ª\u|fdÙ 36gf, sf/0f / 

kl/0ffdx¿ . 

  !=%  g]kfnsf] Oltxf; -k|frLg sfnb]lv xfn;Dd_  

 !=%=! ls/fFtsfn, lnR5ljsfn / dWosfnÙ ;fdflhs, ;f+:s[lts, cfly{s Pj+ /fhgLlts cj:yf . 

!=%=@ cfw'lgs Oltxf; -g]kfnsf] PsLs/0f b]lv xfn;Dd_Ù /fhgLlts 36gfqmd, ;fdflhs, 

;f+:s[lts / cfly{s cj:yf . 

!=^ g]kfnsf] ;fdflhs cj:yf, k/Dk/f, d"No / dfGotf, wd{, hfthflt, efiffefifL, ;+:s[lt, snf, 

;flxTo, ;+uLt, ;f+:s[lts ;Dkbf / cfly{s cj:yf -s[lif, pBf]u, Jofkf/, ko{6g, oftfoft, ;+rf/, 

ljsf; of]hgf, cflb_ ;DaGwL hfgsf/L . 

 !=& dfgj hLjgdf k|ToIf k|efj kfg]{ lj1fgsf k|d'v cfljisf/ / gljgtd ultljlwx? ;DaGwL 

hfgsf/L . 

!=* kof{j/0f, h}ljs ljljwtf, lbuf] ljsf;, hnjfo' kl/j{tg, jftfj/0f Joj:yfkg, k|b'if0f, hg;+Vof, 

Zfx/Ls/0f, a;f]jf; -aF;fO{;/fO{_, u/LaL, :jf:Yo, /f]u, vfB / kf]if0f, cflb ;DaGwL hfgsf/L .  

!=( g]kfnsf] zf;gk4lt / ;/sf/ – ;+ljwfg, /fhgLlts Joj:yf, :yfgLo ;/sf/, ;'zf;g, cflb .   

 !=!) cGt/f{li6«o ;DaGw tyf ;+3÷;+:yf – ;+o'Qm /fi6«;+3 / If]qLo ;+u7g -;fs{, cfl;ofg, o'/f]lkog 

o'lgog_ . 

!=!! /fhgLlts, ;fdflhs, cfly{s, ;f+:s[lts, v]ns"b, k':ts, k'/:sf/, snf, ;flxTo, ;+uLt, cflb 

nufot /fli6«o / cGt{/fli6«o dxTjsf ;d;fdlos ultljlwx? / dxTjk"0f{ JolQmTj tyf 

ljrf/sx? ;DaGwL hfgsf/L . 
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@= ;fdfGo Aff}l¢s k/LIf0f       !% k|Zg × @ cÍ Ö #) cÍ 

Aff}l¢s kl/If0f cGt{ut ;fwf/0ftof b]xfosf pk–kl/If0fx? kb{5g M zflJbs tfls{s k/LIf0f, dfqfTds    

-;+VofTds jf c+s ;DaGwL_ tfls{s k/LIf0f / czflAbs cd"t{ tfls{s k/LIf0f . 

 

@=! zflJbs tfls{s÷rft'{otf k/LIf0fdf af]w, zAb1fg, cg'qmd, ;d?ktf, juL{s/0f, sf]l8ª– l8sf]l8ª, 

lbzf / b'/L 1fg k/LIf0f, ts{ ljrf/ ;DaGwL, >]0fLqmd -k+lQmqmd_, cfudg, lgudg, cflb 

ljifoj:t'af6 k|Zgx? ;dfj]z ul/g]5 . 

   

@=@ dfqfTds -;+VofTds jf c+s ;DaGwL_ tfls{s k/LIf0fdf cg'qmd ->]0fLqmd_, ;d?ktf, juL{s/0f, 

sf]l8ª, 5f]l8Psf ;+Vof -cIf/÷;+s]t_ ldnfpg], ;femf u'0f, d]l6«S;, tYof+s JofVof, tYof+s hfFr  

-?h'_, c+sul0ftLo ts{ ÷lqmof ;DaGwL, cflb ljifoj:t'af6 k|Zgx? ;dfj]z ul/g]5 . 

  

@=# czflAbs tfls{s k/LIf0fdf cg'qmd, ;d?ktf, Ps?ktf, juL{s/0f, lrqfTds ljZn]if0ffTds ts{ 

;DaGwL, e]g lrq, d]l6«S;, lqe'h / ju{x?sf] /rgf, lrq jf cfs[lt agfj6 / ljZn]if0f, cflb 

ljifoj:t'af6 k|Zgx? ;dfj]z ul/g]5 .   

 
;dfKt 

 

k|ydkq ;fdfGo 1fg / ;fdfGo Aff}l¢s kl/If0f ljifosf kf7\oqmdsf PsfO{x?af6 ;f]lwg] k|Zgx?sf] ;+Vof 

lgDgfg';f/ x'g]5 . ;fdfGo 1fgdf oyf;Dej qmdzM Level I  sf ^) k|ltzt / Level II sf $) k|ltzt 

k|Zgx? ;f]lwg]5 . 

 

 

k|ydkq ;fdfGo 1fg ;fdfGo Aff}l¢s 

kl/If0f 
cÍef/ 70 30 

PsfO 1.1 1.2 1.3 1=4 1.5 1.6 1.7 1=8 1=9 1=10 1=11 2=1 2.2 2.3 

k|Zg ;+Vof 1 3 3 1 3 5 1 6 2 2 8 5 5 5 

hDdf k|Zg (Level I = 21 / Level II = 14)   hDdf 35  15 
 

 

b|i6JoM– Dffly plNnlvt ;fwf/0f Aff}l¢s k/LIf0fsf] ljifoj:t'÷ljifodf ;f]lwg] k|Zgx?sf] k|s[lt / :t/ lglZrt ljwf 

cWoog u/]sf] jf lglZrt ljwf cWoog u/]sfnfO{ ;xof]u k'Ug] geO{ bzd\ sIff ptL0f{ lzlIft JolQmn] 

pQ/ lbg ;Sg] x'g]5 . o; kl/If0fn] lglZrt lgodx?sf] cfwf/df ;xhAf'l¢ ;fy JolQmn] ts{;+ut 

;f]rljrf/ u/L ;d:of ;dfwfg ug{ ;Sg] ;fd{Yo jf ;Lk ;DaGwdf a9L hf]8 lbg]5\ . o;n] JolQmsf] 

3f]s\g] -s07\:t ug]{_ IfdtfnfO{ eGbf ljZn]if0f IfdtfnfO{ k|ltlalDjt ug]{5 . 
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(In English) 

PAPER I: - General Knowledge & General Mental Ability Test  

 

1. General Knowledge        70 Marks 

 

1.1  General information on solar system and earth. 

 

1.2  Geography of World - continent, ocean, pole, latitude, longitude, time, distance, 

 mountains, earthquake, volcano, rivers, glaciers, lakes, climate, etc.  

 

1.3 Geography of Nepal - geographical location, relief features and natural resources 

(water resources, animals, plants, soils, minerals, mountains, etc). 

 

1.4  History of the World - Industrial revolution, French revolution, American War of 

 independence, Russian revolution/October revolution, First and Second World wars 

 and Indian movement for independence; events, causes and effects. 

 

1.5  History of Nepal (From ancient period till now) 

1.5.1 Social, economic and political conditions of Kiranti Period, Lichhavi 

 Period and Malla Period. 

1.5.2 Modern history of Nepal (from Nepal’s unification to present day) notable 

political events, social, cultural and economic conditions.  

 

1.6 Information on social aspect including traditions, norms, values, religions, ethnicity, 

languages, cultures, arts, literature, music, cultural heritages; and economic status 

(agriculture, industry, trade, tourism, transportation, communication, development 

planning, etc) of Nepal. 

 

1.7 Information on recent scientific activities and major inventions of science which has 

direct impact on human life. 

 

1.8 Information on ecology, bio-diversity, sustainable development, climate change, 

environment management, pollution, population, urbanization, settlement (migration), 

poverty, health, food and nutrition, etc.   

 

1.9 Polity and governance of Nepal – constitution, political system, local governance, 

good governance, etc 

 

1.10 International affairs and institutions – the UNO and regional organizations       
(the SAARC, ASEAN, EU). 

1.11 Information on current affairs including political, social, economic, cultural, sports, 

books, prizes, arts, literature, music, etc of national and international importance, and 

noted personalities and thinkers.   
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2. General Mental Ability Test (GMAT)     30 Marks 

General Mental Ability Test is generally consists of the following subtests: Verbal 

Reasoning, Quantitative (Numerical) Reasoning, and Non-verbal Reasoning.  

2.1 Verbal reasoning test includes questions on comprehension, vocabulary, series, 

analogy, classification, coding-decoding, direction and distance sense test, logical 

reasoning, ranking order, induction, deduction, etc. 

   

2.2 Quantitative (Numerical) reasoning test includes questions on series (sequence), 

analogy, classification, coding, insert the missing character, common property, 

matrices, data interpretation, data checking, arithmetical reasoning / operation, etc.                

         

2.3 Non-verbal reasoning test includes questions on series, analogy, symmetry, 

classification, analytical reasoning, venn diagrams, matrices, construction of squares 

and triangles, and figure formation and analysis, etc.     

 

Note:- The nature and standard of questions in General Mental Ability Test will be such that 

an educated Class X level person will be able to answer them without any specialized 

study. Focus will be on testing a candidate’s ability to think logically on the basis of a 

set of rules and analyze situations using common sense. It will reflect the candidates' 

ability to analyse than ability to memorise. 

 

Level I Questions  

-rf/ ljsNkdfq ePsf ;fdfGo ax'j}slNks k|Zgx?_ 

 

Level II Questions  

-rf/ eGbf ljsNk al9 ljsNk x'g ;Sg] t/ rf/ ljsNkdfq k|bfg ul/Psf ax'j}slNks :j?ksf t/ 

l7s‐a]l7s, hf]8fldnfpg], vfln 7fpF eg]{, sf/0f / k|efj ;DaGw k|Zgx?, gldNbf] 5'§\Øfpg] k|Zgx?_ 
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k|yd kq (Paper I) M– ;fdfGo 1fgsf gd'gf k|Zgx? (Sample Questions of General Knowledge) 

Level I Questions 

1. u|x0f ;DaGwdf lgDglnlvt dWo] ;xL pQ/ s'g xf]< 

 A) ;"o{ / k[YjLsf] aLrdf rGb|df Pp6} l;wf /]vfdf k/]sf] k"l0f{dfsf] lbg rGb|u|x0f nfUb5 .  

 B) ;"o{ / rGb|dfsf] aLrdf k[YjL] Pp6} l;wf /]vfdf k/]sf] cf}+;Lsf] lbg ;"o{u|x0f nfUb5 .  
 C) ;"o{, k[YjL / rGb|df Pp6} l;wf /]vfdf x'Fbf k[YjLsf] 5fFof rGb|dfdf kbf{ rGb|u|x0f x'G5 . 
 D) ;"o{, rGb|df / k[YjL Pp6} l;wf /]vfdf x'Fbf k[YjLsf] 5fFof ;"o{df kbf{ ;"o{u|x0f x'G5 . 

 

 Which of the following is correct about eclipse?  

A) When the moon comes in between the sun and the earth on the full moon day, lies in a straight 

line, the lunar eclipse appears. 

B) When the earth comes in between the sun and the moon on the new moon day, lies in a 

straight line, the solar eclipse appears. 

C) When the sun, the earth and the moon lies in a straight line and the shadow of the earth 

appears on the surface of the moon, the lunar eclipse takes place. 

D) When the sun, the earth and the moon lies in a straight line and the shadow of the earth 

appears on the surface of the sun, the solar eclipse takes place. 

 
2. u|Lgljr ======== l8u|L  b]zfGt/df kb{5 . Greenwich lies on .......... degree longitudes. 

 A) 0  B) 90   C) 180   D) 360 

 

3. lnR5ljsfndf zf;g ;+rfngsf] ;a}eGbf tNnf] k|zf;lgs OsfO{nfO{ ======== elgGYof]], h;sf] k|d'v ======= x'Gy] . 

 The lowest administrative unit was said to be .................. in Lichachhavi Period,  whose 

administrative chief was called............. 

 A) u|fd – k|wfg (Gram – Pradhan)   B) tn – tnl;+ (Tal – Talsing) 

 C) b|+u – s'y]/ (Dranga – Kuther)   D) ljifo – ljifoklt (Bishaya – Bishayapati) 

 

4. g]kfnL ;dfhdf k|rlnt rng ækd{ (Parma) Æ eg]sf] s] xf] < 

 What is meant by existing "Parma" tradition in Nepalese society? 

A) >dsf] kf/:kl/s cfbfgk|bfg ug]{ k¢lt xf] . (It is a system of reciprocal exchange of labour.) 

B) j:t' jf ;fdfgx?sf] kf/:kl/s cfbfgk|bfg ug]{ k¢lt xf] . (It is a system of reciprocal exchange of 

commodities.) 

C) vfBfGgx?sf] ;f6f;f6 ug]{ k¢lt xf] . (It is a barter system of grains.) 

D) :j]lR5s >d ;xof]u ug]{ k¢lt xf] . (It is a volunteer labour contribution system.) 

   

5. æg]kfn ko{6g jif{, 2011Æ sf] d"n gf/f s] xf] < 

What is the main slogan (motto) of Nepal visit year, 2011? 

A) ko{6gsf nflu ;Fu;Fu} (Together for Tourism) B) ko{6g ;w}sf nflu (Tourism for ever) 

C) ko{6s ;a}sf nflu (Tourist for all)  D) ko{6ssf nflu ;Fu;Fu} (Together for Tourist) 

 

6. b]xfo dWo] dfgj cl:yk~h/ -xf8_ af/] s'g s'/f 7Ls xf]O{g, 5fGg'xf];\ . 

A) dfgj z/L/df ;fgf / 7"nf u/L hDdf 206 cf]6f xf8 x'G5g\ .    

B) g/d nrsbf/ s'/s'/] xf8 (Cartilage)  hLljt sf]ifx?af6 ag]sf] tGt' xf] . 

C) xf8df kmnfd (Iron) nj0f -tTj_ kfOg] x'gfn] of] s8f x'G5 . 

D) k|of]u cg';f/ xf8sf] cfsf/ k|sf/ km/skm/s x'G5 . 

 Which one of the following is not correct about human skeleton (bone)? 

A) There are altogether 206 bones, including small & large, in human body. 

 B) The soft & flexible bone is called as cartilage which is a type of tissue made of living cells. 

 C) Because of bone contains iron salt (element), it is hard. 

 D) The shapes and the sizes of the bones are different, depend upon their uses. 
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Level II Questions 

7. lgDglnlvt sygx?df s'g} /f]usf nIf0fx? / ;f] /f]uaf6 aRg] pkfox? lbOPsf] 5 . 

1) nIf0fM– o; /f]udf luhf ;'lGgP/ g/d x'G5g\, lyRbf /ut cfpF5, vfgfdf ?lRf x'b}g / sdhf]/ eO{G5 . 

2) /f]uyfd pkfoM– o; /f]uaf6 aRg cdnf, cDaf, sfutL, ;'Gtnf, xl/of] ;fukft, cflb h:tf vfgfdf 

hf]8lbg' k5{ . 

Symptoms of any disease & its preventive measures are given in the following statements. 

1) Symptoms: - Gums get swollen, become weak and spongy and blood comes out when gums 

are pressed, loss of appetite and weakness.    

2) Preventive measures: - To prevent this disease, we should focus to take food items like Amala, 

Guava, Lemon, Orange, Green Vegetables, etc. 

  

 dfly plNnlvt cg';f/ lgDg lnlvt dWo] ;xL pQ/ s'g xf], 5fGg'xf];\ < 

 Which of the following is correct as statements above mentioned? 

A) /StcNktf (Anaemia)    B) :seL{ (Scurvy)   
C) /tGwf] (Night blindness)  D) l/s]6\; -Vofp6]_ (Rickets) 

  

8. lgDglnlvt dWo] 7Ls s'g xf] ÷x'g, 5'6\ofpg' xf];\ < 
1) /fdzfx uf]/vf /fHosf klxnf] zfx /fhf lyP . 

2) jL/ cd/l;+x yfkfsf] k|f0ffGt\ uf];fO{s'08df ePsf] lyof] .  

3) /f0ffsfndf hË axfb'/sf] d[To' kl5 hDdf cf7 hgf k|wfgdGqLx? ePsf lyP .  

   

 Which of the following is/ are correct? 

 1) Ram Shah was the First Shah King of The Gorkha state/ principality. 

 2) Brave Amar Singh Thapa took his last breathe of life at Gosaikunda.  

3) There were total eight Prime Ministers in Rana Period after demise the Prime Minister Jung 

Bahadur. 

 A) 1 dfq 7Ls (Only 1)  B) 2 / 3 dfq (Only 2 & 3) 

 C) 1 / 3 dfq (Only 1 & 3) D) 1, 2 / 3 ;a} (All 1, 2 & 3) 

 

9. lxdfnx?sf] cjl:yltsf] cfwf/df k"j{ b]lv klZrd qmddf ldnfP/ /fVbf tnsf dWo] s'g qmd ;xL xf] < 

 Which one of the following order is correct according to geographical location ranging from East 

to West? 

A) s~rghª\3f, dsfn', ;u/dfyf, cGgk"0f{, dgf:fn' (Kanchanjangha, Makalu, Sagarmatha, 

Annapurna, Manaslu) 

B)  dsfn', Nxf]T;], cGgk"0f{, dgf:fn', wf}nflu/L  (Makalu, Lhotse, Annapurna, Manaslu, Dhaulagiri) 

C) s~rghª\3f, ;u/dfyf, dsfn', dgf:fn', cGgk"0f{ (Kanchanjangha, Sagarmatha, Makalu, Manaslu, 

Annapurna) 

D) dsfn', Nxf]T;], dgf:fn', cGgk"0f{, wf}nflu/L (Makalu, Lhotse, Manaslu, Annapurna, Dhaulagiri) 

    

10. hf]8f ldnfgdf (Matchings) tnsf] s'g rfFlx 7Ls 5 < 

Which of the following matching is correct? 

  ;d"x (List) I – hfthflt (Ethnicity)         ;d"x (List) I – kj{ (Festivals) 

 a). tfdfª (Tamang)      1. td' Nxf]5f/ (Tamu Lhochhar) 

 b). u'?ª (Gurung)     2. ;f]gfd Nxf]5f/ (Sonam Lhochhar) 

 c). yf? (Tharu)    3. UofNaf] Nxf];f/ (Gyalbo Lhosar) 

 d). z]kf{{  (Sherpa)    4. df3L kj{ (Maghi Festival) 

 

 A) a-1, b-2, c-3, d-4  B) a-2, b-1, c-4, d-3  

 C) a-3, b-4, c-1, d-2  D) a-4, b-3, c-2, d-1 
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11. cGgk"0f{ ;+/If0f If]q ;DaGwdf lgDglnlvt dWo] 7Ls s'g xf] ÷x'g, 5'6\ofpg' xf];\ . 

1) 7629 ju{ lsnf]ld6/ If]qkmnnfO{ ;d]6]/ lj=;= 2049 ;fndf :yfkgf ePsf] xf] . 

2) o;df wf}nflu/L / u08sL c~rnsf afUn'Ë, DofUbL, d':tfª, dgfª, ndh'ª / sf:sL lhNnfsf clwsf+z 

efux? kb{5g\ . 

3) o; If]qdf ljZjs} ;a}eGbf cUnf] :yfgdf /x]sf] ltlnrf] tfn, cGgk"0f{, lgnlul/ h:tf lxdfn kb{5g\ . 

  

 Which of the following is/ are correct about Annapurna Conservation Area? 

1) It is established in 2049 BS covering area of 7629 square kilometers. 

2) It covers large areas of Dhaulagiri and Gandaki zones including Baglung, Myagdi, Mustang, 

Manang, Lamjung and Kaski districts. 

3) It has Tilicho Lake, which is situated at the highest place of the world and mountains like 

Annapurna, Nilgiri. 

  

  A) 1 / 2 dfq 7Ls (Only 1 & 2 are correct) B) 2 / 3 dfq 7Ls (Only 2 & 3 are correct) 

  C) 1 / 3 dfq 7Ls (Only 1 & 3 are correct) D) 1, 2, 3 ;a} 7Ls (All 1, 2, 3 are correct) 

 
12. ;d'x I  / ;d'x II df hf]8f ldnfpg'xf];\ / sf]8af6 ;xL pQ/ 5fGg' xf];\ . 

    ;d'x I       ;d'x II 
 a_ bf]d6     1. hLjhGt' -k+IfL_  

 b_ sfF8] Eofs'/   2. df6f] 

 c_ R5f] /f]Nkf   3. jg:klt 

 d_ 6'G8«f    4. lxdtfn 

 

Match list I with list II & select the correct answer using the code given below the lists.  

      List I      List II 

  a) Loam    1. Animals (Aves)  

  b)  Spiny Babbler  2. Soil 

  c)  Chho Rolpa  3. Vegetation 

  d) Tundra   4.  Glacial lake 

 

sf]8 (Code) a b c d 

 A) 1 2 3 4 

 B) 2 1 4 3 

 C) 3 4 1 2 

 D) 4 3 2 1 

 

13. ;fd'lb|s cfFwL (Cyclone) sf ljleGg km/skm/s gfdaf/] ljrf/ ug'{xf];\ . 

 1) pQ/ cfGw| dxf;fu/ / k"jL{ k|ZffGt dxf;fu/Lo If]qdf xl/s]g  (Hurricane) gfdn] lrlgg] ul/G5\ . 

 2) pQ/ klZrd k|ZffGt dxf;fu/Lo If]qdf 6fOkm'g (Typhoon) gfdn] lrlgg] ul/G5\ . 

 3) lxGb dxf;fu/df ;fOSnf]g (Cyclone) gfdn] lrlgg] ul/G5\ . 

 4) blIf0fL k|ZffGt dxf;fu/df ljnL ljnL (Willy - Willy) gfdn] lrlgg] ul/G5\ . 

   

 dfly plNnlvt cg';f/ lgDglnlvtdf ;xL pQ/ s'g xf], 5fGg'xf];\ < 

  A) 1 dfq ;xL xf] .   B) 1 / 2 dfq ;xL x'g\ .  

  C) 1, 2 / 3 dfq ;xL x'g\ .  D) 1, 2, 3 / 4 ;a} ;xL x'g\ .  
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 Consider the following different names of the term "Cyclone" 

 1) It is known by the name of Hurricane in the Northern Atlantic Ocean and Eastern Pacific 

Ocean.   

 2) It is known by the name of Typhoon in the North- Western Pacific Ocean.   

 3) It is known by the name of Cyclone in the Indian Ocean.   

 4) It is known by the name of Willy-Willy in the Southern Pacific Ocean.   

   

 Which of the statements given above is/ are correct? 

 A) Only 1 is correct.    B) Only 1 & 2 are correct.  

 C) Only 1, 2 & 3 are correct.  D) All 1, 2, 3, 4 are correct. 

 

k|Zg g+= 14. / 15. lgDg tflnsfsf cfwf/df x'g]5M  

 

The next two (02) items ( Question No. 14 & 15) are based on the following Table: 

 oxfF ;d'x I, ;d'x II / ;d'x III s'g} g s'g} ?kdf Ps cfk;df ;DalGwt 5g\ . logLx?sf] ;DaGw kQf 

nufpg'xf];\ / sf]8af6 ;xL pQ/ 5fGg'xf];\ . 

 

;d'x I -36gfqmd_ ;d'x II -ldlt_ ;d'x III -k|wfgdGqL_ 

(a).     klxnf] d"n'sL P]g nfu' 1.    lj=;+= 1872 (i).    eLd;]g yfkf 

(b).    ;'uf}nL ;lGw 2.    lj=;+= 1910 (ii).   hË axfb'/  

(c).    ds} kj{ 3.    lj=;+= 1958 (iii).  rGb| zdz]/ 

(d).    uf]/vfkq k|sfzg  4.    lj=;+= 1977 (iv).  b]j zdz]/ 

 

  Here, list I, list II & list III are interrelated among each other. Find the relation among 

 themselves and select the correct answer using the code given below.    

 

List I (Events) List II (Dates) List III(Premiers) 

(a).    Issued First Muluki Ain  

    ( Civil Code ) 

1.    1872 BS (i).    Bhimsen Thapa 

(b).    Sugauli treaty 2.    1910 BS (ii).   Jung Bahadur 

(c).    Makai Parva 3.    1958 BS (iii).  Chandra Shamser 

(d).    Gorkhapatra Publication 4.    1977 BS (iv).   Dev Shamser 

 

14. ;d'x (List) I   ;d'x (List) II  ;d'x (List) III  

 A)      (a)       2       (ii) 

 B)      (b)       1       (iv) 

 C)      (c)       4       (i) 

 D)      (d)       3       (iii) 

 

 

15. ;d'x (List) I   ;d'x (List) II  ;d'x (List) III  

 A)      (a)       2       (iv) 

 B)      (b)    1       (ii) 

 C)      (c)    4       (iii) 

 D)      (d)    3       (i) 
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;fdfGo Aff}l¢s k/LIf0fsf gd'gf k|Zgx? ( Sample Questions of General Mental Ability Test) 

1. tn lbO{Psf] qmd/>]0fLdf k|ZglrGx (?) /flvPsf] vfnL 7fpFdf s] x'G5 < 

What will come at place of question mark (?) of the following series? 

 (i). d, g, j, (?), p, s, v 

A) l  B) m  C) n  D) o 

 (ii). 1, 2, 4, (?), 11, 16 

A) 6  B) 7  C) 8  D) 9  

2. 6fOlki6 ↔ 6fOk/fO{6/ eP em} n]vssf] s] < Typist: Typewriter:: Writer: ? 

A) lstfa (Book) B) sfuh (Paper) C) :qmLK6 (Script) D) snd (Pen) 

3.  lgDglnlvt dWo] gldNg] s'g xf] < 

  Which of the following is odd? 

 (i).  A) cfFvf (Eye)  B) sfg (Ear)  C) d'v (Mouth) D) gfs (Nose) 

 (ii).  A) 1   B) 4   C) 8    D) 9 

4. olb ASK sf] sf]8 ZRJ xf] eg] ANSWER sf]] sf]8 s] x'G5 < 

 If ASK is coded as ZRJ, how is ANSWER written in that code? 

 A) ZMRVDQ  B) ZORVDQ  C) ZMRXFQ  D) ZORXFQ 

5. klxnf] nx/df lbO{Psf] lglZrt lgod h:t} u/L bf];|f] nx/sf] sf]i7 leq k|Zg lrGx (?) ePsf] 7fFpdf lgDg 

lnlvt dWo] s'g x'G5 < Which one of the following fits inside the bracket of second line 

according to rule in first line?        1615 (post) 1920 

       1920 (   ?   ) 1516 

A) stop  B) spot   C) tops    D) pots  
6. s'g} lglZrt 7fFpaf6 xl/axfb'/ laxfg 07:00 ah] kfFr (5) ls=ld= k|lt 306fsf] ultdf k"j{ lbzfdf lx8\g 

z'? u/]5g\ . Tolx g} 7fFpaf6 plx lbzfdf dbgaxfb'/ laxfg 08:00 ah] bz (10) ls=ld= k|lt 306fsf] 

ultdf lx8\g z'? u/]5g\ eg], xl/axfb'/ / dbgaxfb'/sf] e]6 slt jh] x'G5 < 

 Hari bahadur starts to walk from a certain place at 07:00 a. m. with a speed of 5 km per hour 

to east direction. Madan bahadur starts to walk same direction from the same place at 08:00 a. 

m. with a speed of 10 km per hour. What time will they meet? 

A) 08:30  B) 09:00  C) 09:30  D) 10:00 

7. rfln; (40) hgf ljBfyL{x? ePsf] sIffdf /fd' dflyaf6 aL;f}+ (20) :yfgdf lyof] .  ha p:fsf] sIffdf 

c? b"O{ (2) hgf ljBfyL{x? yk egf{ ePkl5 pm cl3Nnf] :yfg eGbf Ps (1) :yfg k5fl8 k/]5 eg], p 

tnaf6 sltcf}+ :yfgdf k5{ < 

 In a class of 40 students Ramu is ranked 20
th 

from top. When two more students were 

admitted in the class, his rank was dropped by one. What is his new rank from bottom? 
 

A) 19   B) 20  C) 21  D) 22 

8. ufO{, s's'/ / la/fnf] h:t} s'g xf] < 

 Which of the following is like Cow, Dog and Cat? 

A) e};L (Buffalo) B) 3f]8f (Horse) C) afv|f (Goat)  D) dflysf ;a} (Above all) 

9.  tn lbOPsf lrqx? dWo] Pp6f c?eGbf km/s 5 Tof] s'g xf] 5'6\ofpg' xf];\ < 

  Which one of the following figure differs from other figures?    

    
(A) (B) (C) (D) 

10. olb CODING eGg] zAbsf cIf/x?nfO{ c+u|]hL j0ff{qmdfg';f/ ldnfpg] xf] eg] slt cf]6f cIf/x?sf] :yfg 

kl/jt{g x'Fb}g < 

 If the letters of word 'CODING' are rearranged in English alphabetical order, how many 

letters will not change from their original position? 

A) 1  B) 2  C) 3  D)  4 
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11. lbO{Psf] d]l6«S; k'/f ug{'xf]; < 

  Complete the given matrix. 

 

 

 

 

 

 

 

 

             (A)         (B)          (C)          (D) 

 

12. tn lbOPsf] lrqdf rt'e'{hx?sf] (Quadrilaterals) s'n ;+Vof kQf nufpg' xf];\ ? 
 What is the number of Quadrilaterals in the figure given below? 

 
 A) 3  B) 5  C) 6  D) 7 
 

 

13. tnsf dWo] s'g lrqn] 5fq, 5fqf, ljBfyL{x?sf] ;DaGwnfO{ /fd|/L k|ltlglwTj ub{5 < 

Which one of the following diagrams correctly represents relationship among Boys, Girls and 

Students? 

  
 

 
        (A)  (B)    (C)    (D) 

14. tn lbOPsf 1, 2, 3, 4 gfd c+lst lrqx? dWo] s'g s'g b'O{ lrqaf6 Pp6f ju{ lrq agfpg ;lsG5\ 

/f]Hg' xf];\ . 

 Select two out of the following four alternative figures 1, 2, 3, 4 when fitted together will 

form a complete square. 

    

          1                    2                       3    4 

 A) 1 and 2  B) 1 and 3  C) 1 and 4  D) 2 and 3 
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15.  oxfF Ps};do Ps};fy bf}l8/x]sf P / Q b'O{ v]nf8Lx?sf] ;do–b""/L u|fkm tn lbO{Psf] 5 . 

  The time-distance graph of two athletes P and Q running side by side is given below: 

 
 
 
 
 
 
b'<
L (

D
is

ta
n

ce
) 

→
 

 

 

                      समय ( Time) → 

 dfly lbO{Psf] ;do–b""/L u|fkmsf] cfwf/df lgDg lnlvt dWo] s'g rFflx ;xL lgis{if lgsfNg ;lsG5 < 

  Which one of the following statements is correct conclusion deducted from the graph? 

  A) bf}8 cjlwe/L P, Q eGbf l56f] bf}8]sf] lyof] . (P ran faster than Q throughout the race.) 

  B) P n] bf}8 lhTof] . (The race was won by P.) 

  C) bf}8 cjlwe/L Q, P eGbf l56f] bf}8]sf] lyof] .  (Q ran faster than P throughout the race.) 

  D) Q n] bf}8 lhTof] . (The race was won by Q.) 

 

16.   tn plNnlvt k|Zgsf] klxnf] nx/df afofF b]lv bfofF ;lrq sf]7fx? lglZrt lgod cg';f/ qmda4 ?kdf 

 /x]sf 5g\ . o;} lgod cg';f/ bf];|f] nx/sf] s'g lrqn] klxnf] nx/ kl5sf] qmd k'/f  u5{ ;f] kQf nufpg' 

 xf];\ < 

  The elements of first line figures below are changing with a certain rule as we observe 

 them from left to right. According to this rule, which of the following second line would be 

 the next figure if the changes were continued with the rule? 

 

       
(A)     (B)      (C)    (D) 

 

17. tn plNnlvt k|Zgsf] klxnf] nx/sf lrqx?df s]lx ;dfg ljz]iftf 5g\ . o:t} ljz]iftf ePsf] Pp6f lrq 

bf]>f] nx/af6 /f]Hg'xf];\ < 

  In the following first line figures have some common characteristics. Which one of 

 second line figure has same common characteristics?  

   
 

 
   

         (A)                 (B)                  (C)                 (D) 
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ljifoM– sDKo"6/ ;Lk kl/If0f  (Computer Skill Test) 

1. Windows Basic 

 Introduction to Graphical User Interface 

 Starting and shutting down Windows 

 Basic Windows Elements - Desktop, Taskbar, My Computer, Recycle Bin, etc. 

 Concept of files and folders 

 Searching files and folders 

 

2. Word Processing/ MS Word 

 Creating, saving and opening documents 

 Typing in Devanagari and English  

 Text formatting (Font, Size, Color, Underline, Italic, Bold, etc) and paragraph 

formatting (alignment, indentation, spacing) 

 Inserting header, footer, page number 

 Page setting (margin, page size, orientation), previewing and printing of documents 

 

 

k|of]ufTds k/LIff of]hgf (Practical Examination Scheme) 

 

ljifo  k"0ff{Í k/LIff k|0ffnL ljifoj:t' lz{ifs 
cÍ 

;do 

sDKo"6/ ;Lk k/LIf0f 

(Computer Skill 

Test) 

!) 
k|of]ufTds 

(Practical) 

Devanagari Typing @=% cÍ 
% ldg]6 

English Typing @=% cÍ 
% ldg]6 

Windows basic and 

Ms-Word 
% cÍ 

% ldg]6 

 

kf7\oqmdsf] p2]ZoM– 

cfhsf] j}1flgs o'udf b}lgs hLjgdf cfOkg]{ Jofjxfl/s ;d:of ;dfwfgsf nflu ;"rgf / ;+rf/ 

k|ljlw;Fu kl/lrt / Go"gtd 1fg, ;Lk / wf/0ff ePsf] JolQm x'g ckl/xfo{tf /x]sf] 5 . t;y{ b]z 

ljsf;sf] d]?b08sf] ?kdf /x]sf] lghfdtL sd{rf/L 5gf}6 ubf{ cfwf/e"t sDKo"6/ 1fg / ;Lk ePsf] 

JolQm 5gf}6 ug'{ pko'Qm x'G5 . To;df klg vl/bf/ kbdf sfo{/t sd{rf/Lx?nfO{ sDKo"6/ ;DaGwL ug'{kg]{ 

;fdfGo ;d:ofx? xn ug]{ Ifdtf x'g clgjfo{ b]lvG5 . To;}n] ck|fljlws tkm{sf Gofo, k//fi6«, k|zf;g, 

n]vfk/LIf0f / ;+;b ;]jf, /fhkq cg+lst låtLo >]0fL, vl/bf/ jf ;f] ;/x kbsf] v'nf k|ltof]lutfTds 

k/LIffsf] låtLo r/0fdf sDKo"6/ ;Lk k/LIf0f k|of]ufTds k/LIff ;dfj]; ul/ of] kf7\oj|md tof/ kfl/Psf] 

5 . 
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k|of]ufTds  sDKo"6/ ;Lk k/LIf0fsf gd'gf k|Zgx? ( Sample Questions) 

 

 

1.  b]jgfu/L Typing Skill Test sf] nflu 150 zAbx?sf] Pp6f Text lbOg]5 . lbOPsf] Text nfO{ cfwf/ 

dfgL 6fOk ug{' kg]{5 .   

          2.5 cÍ  -5 ldg]6_ 

 

2. English Typing Skill Test sf] nflu 200 zAbx?sf Pp6f Text lbOg]5 . lbOPsf] Text nfO{ cfwf/ 

dfgL 6fOk ug{' kg]{5 . 

          2.5 cÍ  -5 ldg]6_ 

 

3.   Windows basic and Word Processing: 

Perform as follows:       5 cÍ  -5 ldg]6_ 

a) Open document containing text typed for question no. 2 and save it with other name 

'windows basic and ms word'.      1Mark 

b) Apply 1.5 line spacing for all text.     1Mark 

c) Insert your name on left side of page and roll number on right side of page as header.

         1Mark 

d) Set page margins as follow: 

Top: 2" Bottom: 1" Left: 1.5" Right: 1.25"  1Mark 

e) Insert page number as footer with centre alignment.   1Mark 
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c+u|]hL jf b]jgfu/L Typing Skill Test  sf] nflu lgb]{zgM– 

1=  b]jgfu/L Typing Skill Test sf] nflu !%) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s k|bfg 

ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 % eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 

 % jf ;f] eGbf a9L / &=% eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 

 &=% jf ;f] eGbf a9L / !) eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !) jf ;f] eGbf a9L / !@=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !@=% jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !% jf ;f] eGbf a9L / !&=% eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 

 !&=% jf ;f] eGbf a9L / @) eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @) jf ;f] eGbf a9L / @@=% eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @@=% jf ;f]eGbf a9L / @% eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 

 @% jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

 

2. English Typing Skill Test sf] nflu @)) zAbx?sf] Pp6f Text lbOg]5 / b]xfo cg';f/ c+s k|bfg 

ul/g]5M–  

 z'4 zAb k|lt ldg]6 -Correct Words/Minute_ kfpg] c+s 

 ^ eGbf sd z'4 zAb k|lt ldg]6 afkt ) c+s 

 ^ jf ;f] eGbf a9L / ( eGbf sd z'4 zAb k|lt ldg]6 afkt )=%) c+s 

 ( jf ;f] eGbf a9L / !@ eGbf sd z'4 zAb k|lt ldg]6 afkt )=&% c+s 

 !@ jf ;f] eGbf a9L / !% eGbf sd z'4 zAb k|lt ldg]6 afkt !=)) c+s 

 !% jf ;f] eGbf a9L / !* eGbf sd z'4 zAb k|lt ldg]6 afkt !=@% c+s 

 !* jf ;f] eGbf a9L / @! eGbf sd z'4 zAb k|lt ldg]6 afkt !=%) c+s 

 @! jf ;f] eGbf a9L / @$ eGbf sd z'4 zAb k|lt ldg]6 afkt !=&% c+s 

 @$ jf ;f] eGbf a9L / @& eGbf sd z'4 zAb k|lt ldg]6 afkt @=)) c+s 

 @& jf ;f]eGbf a9L / #) eGbf sd z'4 zAb k|lt ldg]6 afkt @=@% c+s 

 #) jf ;f] eGbf a9L z'4 zAb k|lt ldg]6 afkt @=%) c+s 

3. c+u|]hL jf b]jgfu/L Typing df lbOPsf] Text nfO{ cfwf/ dfgL 6fOk u/]sf] Text ;Fu le8fO{ r]s ul/g]5 

. lbOPsf] c+u|]hL jf b]jgfu/L Text df pNn]lvt :yfg adf]lhd k/LIffyL{x?n] cfkm\gf] Text df 

Punctuation 6fOk gu/]sf] kfOPdf To;sf] zAbdf u0fgf ul/g] 5}g . tTkZrft lgDg Formula  k|of]u 

u/L z'4 zAb k|lt ldg]6(Correct words/minute) lgsflng]5 .  

 Formula: 

 z'4 zAb k|lt ldg]6 =  

 


